Math 112, section NAME: A Vs wers
Test 2, version A, spring 2012 100 ‘

Sections 7.6-7.8 & 8.1-8.5

Show all your work. Full credit is based on your work shown!
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1. a. Use a sum or difference identity to write the expression as a function of a single angle, then find
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3. Establish each identity. Show all your steps to indicate which identities you used.
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5. Write the equation OWH that satisfies the following information.

Amplitude = 3, period = 7, phase shift = — umts to the left, and vertical shift = up 4 unit.
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6. For each of the following functions, graph at least two Denods (one period in the positive x direction

and one period in the negative x direction.) Find the pertinent information (amplitude, period, phase

shift, x-scale, etc.) Label the axes with appropriate v
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